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1.

Find the mean of 91, 52, 11, 70, and 11.
[A] 52 [B] 47 [C] 11 [D] 38

Find the mode of 65, 52, 24, 59, and 24.
[A] 448 [B]24 [C]52 [D]45.7

Find the mean, median, and mode of the data
in the following sample.
4,10, 10, 14, 4, 25, 15,22, 16, 10

[A] 10,12, 13 [B] 14.5, 13, 10
[C] 12,13, 10 [D] 13,12, 10

For which of the following sets of data is the
mode 5?

[A] 3,6,5,8,1,5,9,5
[B] 2,4,1,5,7,5,2,2
[C] 5,0,1,2,1,4,1,0
[D] 8,4,8,8,3,5,5, 1

For which of the following sets of data is the
mode 3?

[A] 5,7,3,8,4,3,5,6,1,3,6
[B]0,1,1,2,2,3,6,8,8,9,9
[C] 3,12,8,5,1,4,11,13,11,2
[D] 6,2,7,6,6,6,3,1,3,9,3

For which of the following sets of data is the
mean 8.1?7

[A] 8.5, 8.0, 8.0, 9.0, 7.0
[B] 6.6,7.5,8.1,9.2,9.8
[C] 8.1,8.1,8.7, 8.8,9.9
[D] 4.2,6.7,8.1,5.5,9.1

10.

11.

NAME:

Find the mean of 86, 35, 27, 75, and 27.

Find the mode of 99, 96, 95, 98, and 95.

Find the mean, median and mode for this set
of data.
3.6,3.7,3.5,4.1,3.7,39,42,3.7,39,3.4

The median of a set of data is 15. If there are
10 data items in the set, which of the
following statements best describes the two
middle numbers?

[A] One of the numbers must be 15.
[B] The numbers must be 13 and 17.
[C] Both numbers must be 15.

[D] Their mean must be 15.

[E] The numbers must be 14 and 16.

Compare the quantity in Column A with the
quantity in Column B.
4.6,3.1,5.8,2.9,3.4,42,3.7,3.8,4.1,3.5

Column A Column B

mean

median

[A] The quantity in Column A is greater.
[B] The quantity in Column B is greater.
[C] The two quantities are equal.

[D] The relationship cannot be determined on
the basis of the information supplied.
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[1] B

2] B

[3] D

[4] A

[5] A

[6] A

[71 50

[8] 95

[9] mean: 3.77, median: 3.7, mode: 3.7

[10] D

[11] A




